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¥ E B E R NO. 1
I Al # Al B - STk B BRERE | BERE =
ERTT
HEHI T
& W T m® 799.5 800
FRIET K& " m* 19.8 20
BRET B R (4L | BEIELOmEKH [ m’ 4.4 4
" BEIE]. OmBl b4, 0mai| m° 338.2 340
12 R (FER)  |mmElomubs omks| m 50. 3 50
BB HWET m® 14.0 14
BRI ET
BIQET BRI L=6. Okt F| m® 367. 1 370
R R T
ZENET
BRHER (24> FREMLH : t=30om) [ m 313.2 313
HkEENT
RET
ERUBEE 300 x 500 m 9.1 9 |BERE
" 300 x 600 m 26.0 26 |BERE
" 300 x 700 m 18.0 18 |EhzR%




BB B BB R NO. 2

I # Al Al B -tk | BA | RERE | REHE i =
ERUZMIE 300 x 800 m 1.0 1 | BRI
" 300 x 900 m 6.0 6 [BHERzE
SKkHT
Sk 400 x 400 x 550 7 1 1 |HiEBEE296 547
INEIH L= T
HHRET 300x300%2000 | m 20. 6 21 |HEBE296 4%
EmET
BWEEELEZILE ¢ 250mm m 32.6 33 | (FAKE)
" & 200mm m 74.6 75 |GEKE)
FAL Y R—ILERET
154031 v hR—IL PAI4%900mm AT 4 4
MHE AAgeyagitrsr| 1 1
ELT L3l 1 1| (RKE)
BT il 3 3 |GBKE)
HET
EERT
TREEET (¥ B #4RM-40 : t=3cm) | m 116.5 117 [THiEBEE296 5 4%
FRAI7ILRGET
FET (t=bcm) BEFHNE7ZRIL Q0| 429.7 430
REL




B E B E R NO. 3

I & i oL Big - Tk B4 BEHE | BERE =
7 7Kt 4 3% T ARBL (t=60m) i 392.9 393 [HE —HEH
7 7K 4 3% T ARBL (t=8cm) i 40.0 40 |58 FEAR
BK— b (T #8m) m 432.8 433 |8 —AEH
PRAET
LFRERET (BAEHARE t=15em) | m 322.6 323 g%??ﬂégfzg
TRERET (BEYHARE t=19em) | m 322.6 323 ggfﬂé?gg
RAET BAYARE - t=10cm| m 392.9 393 |HE —HEH
T4 —BI |9y a i t=10m| m 392.9 393 |HE —HEH
LFRERET BAERHRE  t=10cm| m 40.0 40 |58 FEARR
TRERET BAEYARE - t=15m| m 40.0 40 |58 FEALR
BHEL
#BAL
SEEERIOVY —AZERA m 12.7 13
" FETERA m 4.2 4
" PITEBA m 9.3 9
" — A% E8B m 58. 2 58
" FE{+ERB m 0.6 1
" B 11 E8C m 1.2 1




¥ E B E X NO. 4
I Al # Al B - Tk B E | BE¥E =
SEEHERIOVY RALR m 6.0 6
MEBR IO vy | 150x150%600 | m 81.3 81 |—Hg&p
" 150x 150x600 | m 7.2 JBEIN:
" 120120600 | m 93.6 94 |—HREBA  HEFE
— 3 &RCEY m 0.9 1
EREERRET
+T
BRI W T m* 31.2 30
ROEHE W T m® 5.5 6
BE (B4R | BEIELOmEH | m’ 1.1 8
BR (FET) IRIEL Omki | m® 18.0 20
BT |EMEEE =6 OknllF| m® 11.4 10
MREARRm T
FEBAT (LED) H=8. Om 2 1 1 |(—#F)
FEBALT (LED) H=8. Om & 2 2 |(REAR)
Ny BR—JL 600 x 600 xH910 | # 1 1
BoE - BLiRT
BEEERIIFLUE FEP30 m 54.9 55 |#hhELE
B4 (SHZ11. 5mm) CV/3. 559-2C m 54.9 55
L S il 150mm_2f% EAHA| m 54.9 55

BT




¥ ERBE R NO. 5
I & Bl A g - Tk BAI E | BREH%E Hm =
BHIOVIRET
B8R 1300 x 300 (B&f4=X) | mi 45. 1 45
FEIOvY 0300 x 300 x 60 m 7.9 8
MEEREET
HibsH (H=850) & 9 9 |(AE=)
RIRFEZF (H=800) X 8 8 | (A& =) B2965 #%
AY—JLA (¢ 350 - H=410) = 4 4
NUFA (W555 x L1200 x H755) | % 2 2
Ayadxz R (H=1200) m 46. 8 47 [(2ER)
£t (EL) (t=30cm) m’ 10.9 1 |[(AER)
XE#R T
BRI X ER
e A(=)) W=15cm m 203. 3 203 [ERAEIGR - FHRER
W% (H) W=30cm m 1.2 11 | Ky Mg (B2965#)
ER(B2) W=30cm m 13.6 14
ER(B2) W=45cm m 113.8 114 |#&#r5iE - F1ER
£ (8) W=45¢m m 10.6 11 | €754 (B2965#)
E#R (Fr) W=45cm m 17.0 17 B (29654
EScA(=)) W=15cmit & m 203.5 204

BEYHET




B E B B X NO. 6
I & e Al RI& - Tk =Xiva £ | BEH=E B OE
EEWEEE L
SHERRYIMT T (t=15cmLLTF) m 65.5 66
EEIREN (t=5cm) m 185. 1 185
e RIS Ly m® 0.08 0.08
TR T 7 I FEBKERE = 1.00 1
BB (Aszh ERIEEE L=10. 5kmblF| m° 9.2 9
EYREEEE L=8. OkmA T
ERUBEEME - B8 - 05 300 x 300 m3 3.2 3 |THiEBE 29655
RBFEEHE
RBEFEZRE| EFEBEA A 3.0 3
REHEEB A 11.0 11
MiEIEE
HERERE
RifrEEE TEARE
MY O LGAHRER| BRI 2.0 2
IR 15 0BREA B & A 1.0 1
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T IT&EE

NO. 1

EEIT

Y&

HI ek T

(TEHEELY)

261.20 m*®

X EER1 SR

"

"

136. 88 m®

MK EE MR

"

1/

V=3. 63m°/10% x 3%

1.09 m®

FREAE 1%

"

1/

190. 05 m®

HKERMFK

1/

1/

25.28 m®

HKERMFK

1/

1/

98.45 m®

HKERMEFK

n"

n"

47.02 m®

HIKEEMER

n

n

39.53 m®

BB

A =
(=]

799.50 m®

7

¥ P T

(TEHFEELY)

19.79 m®

op
Elil_l

19.79 m®

HBRET i

=

R4+ BHET

IBRME OmRilh (TEHEELY)

4.44 m®

op
Elil_l

4. 44 m®

18

=

R4+ BHET

ERIEL 0m Bl E4 OmK i

57.15 m®

K EEMER

"

"

n"

140.76 m®

HIKERMK

"

"

n

17.41 m®

HKEEMER




T IT&EE

=

NO. 2

1# OF (R4 EEET

BEE. 0mLlE4 OmEKH

68. 26 m’

HKERMK

"

"

n"

25.86 m®

HKERMK

"

1/

n

28.73 m®

BEAERER

o
=

it

338.17 m®

1#

R (B4 #ET

HEREL OmELE4. OmEKiHE

17.33 m®

RAERNHR

1/

1/

n"

14.46 m®

HKERMEFK

n"

n"

n"

2.42 m®

HIKEEMER

n

n

n

9.24 m®

HIKEEMER

n

n

n

3.65 m’

BB

n

n

"

3.21 m®

HIKEEMER

op

iy

50. 31 m®

(DB

P T

4.29 m®

A EEAmR

n

n

4.26 m®

EKERHB

n

n

0.71 mé

EKERHB

n

n

2.73 m®

HIKEEMER

"

"

1.08 m®

FKERAER

"

"

0.95 m?

FK BRI




T ITEE HE = NO. 3
& 14,02 m°
BEAMET
BEMET L6 Okn $E8- (25) 0.9 367.10 m® DIDA
& & 367.1 m’




& Al T EEHEE NO. 1
Al = BB B B EXRTE ® B 1 =
10NO. 6+9. 890 0. 90
4.32 1.25 5. 40
10NO. 6+14. 214 1.60
10NO. 6+14. 214 8. 50
5.78 8. 50 49.13
10NO. 7 8. 50
20. 00 8. 95 179. 00
10NO. 8 9. 40
1.13 9. 55 10. 79
1CEC. 2 9.70
1.74 9.70 16. 88
1CEC. 2+1. 74 9.70
& i 32.97m 261. 20m3
B R T 2HEE NO. 1
Al & BE B T E R mE ® B 1 =
10NO. 6+9. 890 0. 00
4,32 0. 20 0. 86
10NO. 6+14. 214 0. 40
10NO. 6+14. 214 0. 40
5.78 0.55 3.18
10NO. 7 0. 70
20. 00 0.55 11.00
10NO. 8 0. 40
1.13 0.35 0. 40
1CEC. 2 0.30
1.74 0.15 0. 26
1CEC. 2+1. 74 0. 00
&5 & 32.97m 4. 44m3




K IR T EHEE NO. 1
B = BB B BT m B T E KX ¥ i =
1CNO. 6+9. 890 0. 00
4.32 0. 30 1.30
1CNO. 6+14. 214 0. 60
1CNO. 6+14. 214 0. 60
5.78 0.75 4.34
1CNO. 7 0. 90
20.00 0. 65 13.00
1CNO. 8 0. 40
1.13 0. 40 0. 45
1CEC. 2 0. 40
1.74 0. 40 0.70
1CEC. 2+1. 74 0. 40
~

=

19. 79m3




77

+TEHBIKE (VU ¢ 250) RAE

BARIEE 33.00 m
5 3. 160 N
1
|
| B X%y
- . ' . 0 o,
. F Ak A H 1 | HER 4 g
Q I %+ Q g s
. N
s = !
=g 1. 767 gl
Dﬁ (e} L] > —
= . [ ] .
:‘[:? L | J| (e}
E’_ 1
ARy HR 1 e
Jiljiy
FFAERD S5 KO8
4 | s o % S
_________________W VL v v
. I RO REAE v
=
S
. 1. 300 . S
T -1 H iid L ¥ E
el (( 1.300 +3.160 ) X 1.860 =2 ) X 33.00 136.88 m?
W EERE  (t=10cm) 33.00 X 1.30 X 0.100 4.29 m®
REWTERS © 0.267°2 X w/4 = 0.056
AR (@AD) nkv | ((1.400 + 1.767 ) X 0.367 =2 ) - 0.056 0. 525 m3/m
ARSHERE (FHAR) 0.525 X 33.00 17.33 m?
BIRAMERE (FE4+) (( 1.767 + 3.160 ) X 0.703 =2 ) X 33.00 57.15 m®
Sy L) 136. 88 —( 57.15 X 1.11) 73. 44 m°®




+ T HRHLX

(VU ¢ 200) 75KE

BRER  34.10 m
L 3. 565 N
A
B x/\
7 iE
R P =X
\]ﬁ ©
»E+ o
B,
éEI —
:.E_\\“ v v
g
AXSHLR
i
B 2 wl =
o N <t
s WS
ﬂ <
A4 v
v IR v
2|
S
. S
T & H H Lice B ¥ E
FERAH (( 1.250 + 3.565 ) X 2.315 =2 ) X 34.10 190. 05 m?®
WY JLqE (t=10cm) 34.10 X 1.250 X  0.100 4,26 m?®
MRS © 0.21672 X /4 = 0.037
AR (FAED) m4v | (( 1.350 + 1.566 ) X 0.316 =2 ) — 0.037 0.424 m3/m
ARXSGHE (BAD) 0.424 X 34.10 14. 46 m?®
BROHERE (4T) (( 1.566 + 3.565 ) X 1.609 —2 ) X 34.10 140.76 m®
7% sy 190. 05 —( 140.76 X 1.11) 33.81 m?®




+ T HRHLX

(VU ¢ 200) 75KE

BRNER  5.70 9 m
. 3. 230 N
| :
I A
I B x/\
] 7
~ e | . i <
T FERRA . R 4 =
S I Rkt W5
N\ I A
=3 |
E( :
:.E_\\“ — I v v
g
AXSHLR
i
AR 2 wl =
o N <t
s WS
ﬂ <
A4 v
v IR v
:|
S
. S
T & H H Lice 28 ¥ E
FERAH (( 1.250 +3.230 ) X 1.980 =2 ) X 5.70 25. 28 m3
WY JLqE (t=10cm) 5.70 X 1.250 X 0.100 0.71 m?
MRS © 0.21672 X /4 = 0.037
AR (FAED) m4v | (( 1.350 + 1.566 ) X 0.316 =2 ) — 0.037 0.424 m3/m
ARXSGHE (BAD) 0.424 X 5.70 2.42 m?
BROHERE (4T) ((1.566 +3.230 ) X 1.274 ~2 ) X 5.70 17.41 m?
Y5y L 25. 28 —( 17.41 X 1.11) 5.95 m?®




+ T HRHLX

(VU ¢ 200) 75KE

ERER  21.80 m
. 3. 255 N
| :
I A
I B x/\
] 7
~ e | . i o
T FERRA . R % &
S I Rkt W5
N\ I A
X, i
TS
E\C .
:.E_\\“ N ! v v
g
AXSHLR
i
AR 2 wl =
o N <t
s WS
ﬂ <
A, v
v IR v
:|
S
o S
T & H H Lice B ¥ E
FERAH (( 1.250 + 3.255 ) X 2.005 =2 ) X 21.80 98.45 m?
WY JLqE (t=10cm) 21.80 X 1.250 X  0.100 2.73 m?
MRS © 0.21672 X /4 = 0.037
AR (FAED) m4v | (( 1.350 + 1.566 ) X 0.316 =2 ) — 0.037 0.424 m3/m
ARXSGHE (BAD) 0.424 X 21.80 9.24 m?®
BROHERE (4T) ((1.566 + 3.255 ) X 1.299 =2 ) X 21.80 68.26 m®
Ly 98. 45 —( 68.26 X 1.11) 22.68 m?




+ T HRHLX

(VU ¢ 200) 75KE

BINER  8.60 m
. 3.535 N
| :
I A
| N
] B X wa)
~ e | . i o
T FERRA . R 4 =
S I Rkt W7
N\ I A
= |0 |
=8 :
§ N I v v
g
AXSHLR
i
AR 2 wl =
o N <t
s WS
ﬂ <
A4 v
v IR v
:|
S
o S
T & H H Lice B ¥ E
FERAH (( 1.250 + 3.535 ) X 2.285 =2 ) X 8.60 47.02 m?®
WY JLqE (t=10cm) 8.60 X 1.250 X  0.100 1.08 m?®
MRS © 0.21672 X /4 = 0.037
AR (FAED) m4v | (( 1.350 + 1.566 ) X 0.316 =2 ) — 0.037 0.424 m3/m
ARGHEE (F4EW) 0.424 X 8.60 3.65 m?
BROHERE (4T) ((1.566 + 3.535 ) X 1.179 =2 ) X 8.60 25.86 m®
sy 47.02 —( 25.86 X 1.11) 18.32 m?®




+ T HRHLX

(VU ¢ 200) 75KE

BNER  7.57 m
. 3. 465 N
| :
I A
I B x/\
] 7
~ e | . i o
T FERRA . R % 2
S I Rkt o
N\ I A
=92 |
=9 :
§ N I v v
g
AXSHLR
i
AR 2 wl =
o N <t
= | =
ﬂ <
A4 v
v IR v
:|
S
. S
T & H H Lice B ¥ E
FERAH (( 1.250 + 3.465 ) X 2.215 =2 ) X 7.57 39.53 m3
WY JLqE (t=10cm) 7.57 X 1.250 X 0.100 0.95 m?
MRS © 0.21672 X /4 = 0.037
AR (FAED) m4v | (( 1.350 + 1.566 ) X 0.316 =2 ) — 0.037 0.424 m3/m
ARXSGHE (BAD) 0.424 X 7.57 3.21 m?
BROHERE (4T) (( 1.566 + 3.465 ) X 1.509 =2 ) X 7.57 28.73 m?®
LAy 39. 53 —( 28.73 X 1.11) 7.64 m®
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gk B T &5 i =z NO. 1
FIEME T
BN R (A > FREE# : t=30cm) HEER 190.02 m XEEES 4R

At R TRIERK S8 123.2 m

& &t 313.22 m




BEREMET (£ 4> FRELH  t=300m) HEGHTEHEE NO. 1
Al &= BB = 8 EHES B fiis
1CNO. 6+9. 890 1.13
4.32 1.13 4.88
1CNO. 6+14. 214 1.13
10NO. 6+14. 214 6. 46
5.79 6. 46 37. 40
10NO. 7 6. 46
20. 00 6. 46 129,20
10NO. 8 6. 46
1.13 6. 46 7.30
1CEC. 2 6. 46
1.74 6. 46 11.24
1CEC. 2+1. 743 6. 46
& % 32.98 190. 02
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[4]

HE
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BkEEYM IR =
BiET
FERUZVEIE
300 x 500 A 9.1 9.1 m (R-18#)
300 x 600 Z 18 Al 16.0 26,0 m (R-18#)
300 x 700 Z A8 Al 10.0 8.0 m (R-15#)
300 x 800 Z A Al 6.0 7.0 m  (R-18#)
300 x 900 6.0 6.0 m (X-18#)
EXHT
£k 400 x 400 x 550 1 #  (B2968#R)
INAJLIN— T
HEHEET 300 x 300 x 2000 20.6 m  (B2965#R)
EMRT (F7KE ¢ 250)
L= 33.0-0. 45 (A FLEERRSY) 32.6 m
CBEKE ¢ 200)
L= 34. 1+27.5+8. 6+7. 57-(0. 45x 7) 74.6 m
LT UR—ILERET
15 AFL (P#£900mm) 1 & (FKE)
15 A\ FL (R#Z900mm) BT CEKE)




HEKEEEY T B £ Al NO. 1
ERUEMIE (REERIS5)

X M B ] 300x800 | 300x700 | 300x600 | 300x500 E &=
1CNO. 6+14. 850~ 1CNO. 6+15.850| m 1.0 R-15#R - BERE
1CNO. 6+15. 850~1CNO. 7+3.850 | m 8.0 X-154% - BEA%
1CNO. 7+3. 850~1CNO. 7+13.850 [ m 10.0 X-154% - BEA%
1CNO. 7+13. 850~ 1CNO. 8+2. 950 | m 9.1

o
ul

E 1.0 8.0 10.0 9.1




A

HEKIEEY T & = =R NO. 1
RRUEAIE (REERTSH)
X B fi| 300x900 | 300x800 | 300x700 | 300x 600 =

1CNO. 6+10. 870~ 1CNO. 6+16. 870 6.0
1CNO. 6+16. 870~1CNO. 7+2. 870 6.0
1CNO. 7+2. 870~ 1CNO. 7+12. 870 10.0
1CNO. 7+12. 870~1CNO. 8+8. 870 16.0

& 3 6.0 6.0 10.0 16.0




1 ) wwosg ¢ =W [0
1 HWE d Frwoe TEREAN— k2
Y
! He T i
I B A=Y E
I B wao6=H [ZsYa 5
I B wagy=H A=Y
1 B} | wogl=} wwoo9 @ GNFERE
1 B 2 RUNGe BETHEE
) BYNLY FEITL TS
3 B gz—1
B vL—1 0099 HLENWE
1 WE WEEx
LT} BYTWHEL (TE Mo hg B

Of¢ &) 2 42

EERFTEERY




i
4o

¢89°0L

>

8G¥’L

1-0€ 'ON

£

i
i
ey

0G1 00¢ ww
S| Sy A E
N8 =TT < N === z
Wm

#Y mf
o

o

=N

M E

e BY

e

kil

H
I

;2

< W M Op

®




HAIKX1BETUR—ILESIH=TESE

IiE R FER e
RC-40
BOEET t=20cm T/4%110% = 0.950 0.95 m/ &
Vo 095 X0.2= 0.19 m3
1+0.2 0.19 X 1.26= 0.24 m3/H&fT
AN =LV -5
{yn—bavh)-+T *5E-18 (0.170+0.200)/2 =  0.185
wy-tbT
7T /4% 0.90% X 0.185- 71 /4 X 0.250°
X1/2%090 = 0.096 0.10 m/ &P
fiE&1:2 7T /4% 0.90%+ 7 X0.250 % 1/2
ELZILEET E&2cm x0.90-0.250 X 0.90 = 0.765 0.77 mi/&ifr
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K1 BIUAR—ILEES ITHEETEE(¢P 200)

I7& & EX HE
RC-40
MAEERT t=20cm T/4%110% = 0.950 0.95 m/ &
Vo 0.95 x0.2= 0.19 m3
1+0.2 0.19 X 1.26= 0.24 m3/&fR
P =P IR ¥
{yn—bavh)-+T 5E-18 (0.170+0.200)/2 =  0.185
WH-+bT
7T /4% 0.90% X 0.185- 7t /4 X 0.200°
X1/2%090 = 0.104 0.10 m/ &P
FR&1:2 7T /4% 0.90%+ 7T X 0.200 X 1/2
ELRIILLET E&2cm X 0.90-0.200 X090 = 0.739 0.74 mi /@&







s Tt & .
HEERT (GiPER: )
TEEET (4 B ARM-40 : t=3cm) A= 116.5 m’ T#EBE29654#%
FRAI7I MEET
BEFEHET 23> (20) (t=5cm) A= 190.0 m* REERISHE
" " A= 1232 m’ REBERISE
" " A= 116.5 m? TiHEBE296E 4R
& &t 429.7 ni
BT (BEEER - FER) TEER
LERET (BEHRRER  t=15cm) A=16.5x0.57 9.41 m’ THHEBHE2965#
TS B UM EERRRESE 313.22 m? RE#ER1S#
& &t 322.6 m
TERET (BAEYAREA  t=190m) A=16.5x0.57 9.41 m’ THEBHE2965#
ST B R UREERRRESE 313.22 m’? RE#ER1S#H
& & 322.6 ni
RET (HiEE)
Bk ik TARBL (t=6cm) %18 — A% ER (Z {8 A= 67.50 m? (R-15#)
Bk Tk TARBL (t=6cm) &8 — A% ER (A48 A= 90.25 m? (R-15#)
Bk ik TARBL (t=6cm) &8 — A% ER (Z 48 A= 103.1 m? (R-15#)
FEKTEE FARBL (t=6cm) %38 — A% ER () A= 52.3 m’ (R-15#)
Bk ik TARBL (t=6cm) %38 — A% &R (4 A= 5.4 m’ (R-154#8)
BRI FREARBL (t=6cm) 238 — AR &R (D A= 4.3 m? (R-154)
& & 392.85 m?




E

:I:
232

T&&

L11]
=1

=
=

NO. 2

BRI T ARBL (t=8cm) & T A S5 (Z 4 A= 39.96 (R-15#)
Jyavty  (£=3cm)
(HEHEESR) i — AR AT (2D A= 67.50 (R-15#)
(BEHHESR) HiE— AR AT (D A= 90.25 (R-154%)
(SR EERERS R i — AR A (22D A= 103.1 (R-154%)
(GREEERERSR) HE—ARE (HAD A= 52.3 (R-1548)
(SR EERERS R HiE— AR AL (HAD A= 54 (R-154%)
(AR ERERERS R SEREA (D A= 39.96 (R-154#8)
(R EERERSR) HiE— AR A (H D A= 74.3 (R-1545 - 45E)
& & 432. 81
BKRK— b (R
(EESHEESR) HiE— ARAD (D A= 67.50 (R-15#8)
(REHNEESR) HiE—ARAL (H D A= 90.25 (R-15#8)
(EREEERERSR) HiE — AR A (ZE A A= 103.1 (R-15#8)
(SHEEBERERSR) HiE— R A (HAD A= 52.3 (R-15#8)
(GHEEERERSR) HiE— AR AR (HAD A= 54 (R-15#8)
(REEERERSR) HEFA (ZAD A= 39.96 (R-15#)
(GHEEERERSR) HiE— AR AR (HAD A= 74.3 (R-1548 - 1B
& &t 432. 81




% TSR

L11]
=1

I

NO. 3

BET

BAEYLGARA  (t=10cm)

(HEHEESR) 38— AR &R (240 A= 67.50 (R-1548)
(HEHEESE) 38 —RRAR (A4 A= 90.25 (R-154%)
(EHREEERERSR) 38 —RRAR (ZE ) A= 103.1 (X-154%)
(EHREEERERNSR) 38 — iR ED (A4 A= 52.3 (X-154%)
(HEEERENSR) 38 —ARAR (4D A= 5.4 (X-154%)
(EHEEmERENSR) $3E — iR ED (A4 A= 74.3 (R-154% - BE)
a8 & 392. 85
F4NE—BT H v 3 i (t=10cm)
(EHEAEESR) 538 — AR (ZE A1) A= 67.50 (X-15#%)
(REHEESR) 8 — AR () A= 90.25 (X-15#%)
(EHEEERERSR) 38— AR (24 A= 103.1 (X-15#%)
(EREEERBEHSE) 38— AR (E A A= 52.3 (R-15#8)
CREmBERERSR) B — AR AR (H D) A= 5.4 (R-15#%)
(HEEBERBERSR) 38— AR ER () A= 74.3 (R-1548 - BE)
& & 392. 85
LRERERT BAMMARE  (t=10cm)
(BEHEESR) HEREAL (ZAD A= 39.96 (X-15#8)

BAEYAREG  (t=15cm)




HETE

Bt

L11]
=1

=
=

NO. 4

(REHFEESR)

HEREAR (ZAD

A=

39.96 m’

(R-154%)




REI (BEFRET7 A2 (20) t=5cm) %ﬁ % it ﬁ % NO. 1
B = BB B ) 8 TS m_ i s
1CNO. 6+9. 890 1.13
4.32 1.13 4.88
1CNO. 6+14. 214 1.13
1CNO. 6+14. 214 6. 46
5.79 6. 46 37.40
1CNO. 7 6. 46
20. 00 6. 46 129. 20
1CNO. 8 6. 46
1.13 6. 46 7.30
1CEC. 2 6. 46
1.74 6. 46 11.24
1CEC. 2+1. 743 6. 46
& i 32.98m 190. 02m2
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% CADEHRISMEIIC & & FH{E

A= 1232 m




MEERRRE

(TTIEBEE296 5 #%)

(t=hem)
fHEMRUIET T
L=5.4m —
“\ N ..\\ “\ “\ “\
N0. 5 AN ) \\ \\ ) \\ \N&.A RN (t=§cm) ,
NN NN NN SR T
AN AN N L=5.5m
4\}“ B - C
\"/.I.'i‘ ‘r 74‘ \\
- \
\ | |
|| .
| W

% CADEHRISMEIIC & & FH{E

m




£BI (FHKMEEEFMHRBL (t=6cm)) MEHEE —feER (&) NO. 1
B A BB g B TEHIEE m i i
1CNO. 6+14. 214 7. 41
10. 06 6. 71 67.50
1CNO. 7+4. 28 6. 00
& & 10. 06m 67. 50m2




(7w 38 t=3cm) MEHEE —feER (&) NO. 2
B A BB g B FHiEE m i B =
1CNO. 6+14. 214 7. 41
10. 06 6. 71 67.50
1CNO. 7+4. 28 6. 00
& 10. 06m 67. 50m2




BT (BEYHARA t=10cm) MEHEE (Z48) NO. 3
Al = 5B = g8 EHIES m & &
1CNO. 6+14. 214 7. 41
10. 06 6. 71 67.50
1CNO. 7+4. 28 6. 00
& 10. 06m 67. 50m2




JALE—BI (& v asih t=10em) MEHEE NO. 4
B A BB g B FHiEE m i B =
1CNO. 6+14. 214 7. 41
10. 06 6. 71 67.50
1CNO. 7+4. 28 6. 00
& 10. 06m 67. 50m2




HETERER (REGERIE4) SHiHEL

Ag215
—a

419

% CADEHRISMEIIC & & FH{E

A= 1031 m




MEERRRE

(RENERISH) HE

% CADEHRISMEIIC & & FH{E

A= 523 m




HETERER (REGERIE4) SHiHEL
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% CADEHRISMEIIC & & FH{E
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% CADEHRISMEIIC & & FH{E




£BI (BHKMEEEFMRBL (t=8cm)) MK HE E FEAL (LA NO. 1
B A BB g B TEHIEE m i i
1CNO. 7+4. 28 6. 00
7.20 5.55 39. 96
1CNO. 7+11. 48 5.10
& & 7. 20m 39. 96m2




TJALE—BI(H v 3R t=3m) MEHEE FEAL (LA NO. 2
B A BB g B FHiEE m i B =
1CNO. 7+4. 28 6. 00
7.20 5. 55 39. 96
1CNO. 7+11. 48 5.10
& 7. 20m 39. 96m2




NO. 1

LERET (BERRRA  t=10cm) i E ZE
A R BB E B8 TiIES m i B =
10NO. 7+4. 28 6.00
7.20 5. 55 39. 96
10NO. 7+11. 48 5 10
=) 7. 20m 39. 96m2




NO. 2

FTEBRBT (BEYARE  t=15cm) S E S
A R BB E 8 FHIEE E =
10NO. 7+4. 28 6,00
7.20 5. 55 39. 96
10NO. 7+11. 48 5 10
=) 7.20m 39. 96m2




B T (B K450 T ARBL (t=6cm)) B EMHEE —fgER () NO. 1
B A BB g 8 E1IEE I fi
1CNO. 6+8. 53 0. 00
1.36 1.06 1.44
1GNO. 6+9. 890 2.12
4.32 2.12 9.15
1CNO. 6+14. 214 2.12
5.78 2.12 12. 25
1CNO. 7 2.12
20.00 2.12 42.40
1CNO. 8 2.12
1.13 2.12 2.39
1CEC. 2 2.12
10. 67 2.12 22.62
1CEC. 2+10. 675 2.12
& i 43. 26m 90. 25m2




(7 v a U t=3cm) B EMHEE —fgER () NO. 2
B = i S 2 B MRS [ i
1CNO. 6+8. 53 0. 00
1.36 1.06 1.44
1CNO. 6+9. 890 2.12
4.32 2.12 9.15
1CNO. 6+14. 214 2.12
5.78 2.12 12. 25
1CNO. 7 2.12
20.00 2.12 42.40
1CNO. 8 2.12
1.13 2.12 2.39
1CEC. 2 2.12
10. 67 2.12 22.62
1CEC. 2+10. 675 2.12
& i 43. 26m 90. 25m2




BT (HAEYLARE t=10cm) B EMHEE —fgER () NO. 3
B = i S 2 B MRS [ i
1CNO. 6+8. 53 0. 00
1.36 1.06 1.44
1CNO. 6+9. 890 2.12
4.32 2.12 9.15
1CNO. 6+14. 214 2.12
5.78 2.12 12. 25
1CNO. 7 2.12
20.00 2.12 42.40
1CNO. 8 2.12
1.13 2.12 2.39
1CEC. 2 2.12
10. 67 2.12 22.62
1CEC. 2+10. 675 2.12
& i 43. 26m 90. 25m2




J4LE—BT (Y v t=10m) B EMHEE —fgER () NO. 4
B = i S 2 B MRS [ i
1CNO. 6+8. 53 0. 00
1.36 1.06 1.44
1CNO. 6+9. 890 2.12
4.32 2.12 9.15
1CNO. 6+14. 214 2.12
5.78 2.12 12. 25
1CNO. 7 2.12
20.00 2.12 42.40
1CNO. 8 2.12
1.13 2.12 2.39
1CEC. 2 2.12
10. 67 2.12 22.62
1CEC. 2+10. 675 2.12
& i 43. 26m 90. 25m2
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I

ALK NO. 1

Sk

>EERER IOV Y

—H&ERA Z@ 9.1 + £ 3.6 12.7 m
R{SERA E@ 1.2 + A 3.0 4.2 m
1T ERA E@l 4.2 + A 5.1 9.3 m
— AR ERB Z@ 20.9 + & 37.3 58.2 m
A {$ARB Al 0.6 0.6 m
HA{$ARC Z@ 1.2 1.2 m
FEARD Zf# 6.0 6.0 m
— AR &RC £ 0.9 0.9 m
WwEBER IOV Y (C#&)
41 Z@ 35.3 + G 46.0 81.3 m
AR Z@ 7.2 1.2 m

—HRERA ABRE 47. 4+46. 2 93.6 m  (4E)




ZaT B £ Z {8l NO. 1
SEEHRT 099

X pd Bfy| —fRERB | WATERC | AL | —HRERA | BATEA | YITHA % =
1CNO. 6+14. 81~1CN0. 7+4.31 | m 9.5
1CNO. 7+4. 31 ~10NO. 7+4.91 | m 0.6
1CNO. 7+4. 91~1CNO. 7+10.91 | m 6.0
1CNO. 7+10. 91~1CNO. 7+11. 51 m 0.6
1CNO. 7+11. 51~1CN0. 8+2.91 | m 11.4
1CNO. 8+2. 91~1CNO. 8+7.81 | m 4.9
1CNO. 8+7. 81~1CNO. 8+8.41 | m 0.6
1CNO. 8+8. 41~1CNO. 8+12.61 | m 4.2
1CNO. 8+12. 61~1CNO. 8+13. 21 m 0.6
1CNO. 8+13. 21~1CNO. 8+17. 41 m 4.2

& 20.9 1.2 6.0 9.1 1.2 4.2




BAEL HE £ A8l NO. 1
557" 0940
R B g —fes AL B =
1CNO. 6+14. 21 ~1CNO. 7+4. 41 15.5
1CNO. 7+4. 41~1CNO. 7+11, 61 7.2
1CNO. 7+11. 61~1CNO. 8+11. 61 19.8
& E 35.3 7.2




ZaT B £ 1 NO. 1
SEEHRT 099

X pd Bfi| —fRERB | {THB | GITHERA | fBAHERA | —HBHERA | —ARERC % =
1CNO. 0+3. 67~1CNO. 0+4. 27 0.6
1CNO. 0+4. 27~ 10NO. 0+4. 87 0.6
1CNO. 0+4. 87~ 1CNO. 0+5. 77 0.9
1CNO. 0+5. 77~ 10NO. 0+6. 37 0.6
1CNO. 0+6. 37~ 1CNO. 0+7. 87 1.5
1CNO. 6+10. 87~ 1CNO. 8+8. 52 37.3
1CNO. 8+8. 52~ 1CNO. 8+9. 12 0.6
1CNO. 8+9. 12~ 1CNO. 8+12. 42 3.3
1CNO. 8+12. 42~1CNO. 8+13. 02 0.6
1CNO. 8+13. 02~ 1CNO. 8+15. 12 2.1
1CNO. 8+15. 12~1CNO. 8+15. 72 0.6
1CNO. 8+15. 72~1CNO. 8+17. 52 1.8

& 37.3 0.6 5.1 3.0 3.6 0.9




=Rl NO. 1

O

&AL

HSERRT 0y4C

X 4 B I —fE FEARD i &

1CNO. 6+8.52~1CN0. 8+14.48 [ m 46.0

5 46.0

op
m




.

i



BB B TSR B g NO. 1
B
FRBALT (LED) H=8. Om (—fER) 1 & (B-15#)
HEBAAT (LED) H=8. Om (RELH) 2 (R-1548)
BAEEARYIFLUE  FEP30 L= 45.2+9.7 54.9 m
EfR (5211, 5mm) CV/3. 55q-2C
L= 45.2+9.7 54.9 m
L — 150mm_2{% T|HHA
L= 45.2+9.7 54.9 m
/A2 KRk—JL 600 X 600 x H910 1 # (R-1E8)
Y/ _
i g3 3
23 2ls rEREH ik TrL o T
8 mg; ~§§
nr
X OOMIBIE, MEBOBETT.
K 3B (H=700) V=0. 55 x 1. 00 x 100 55.0 m  100m Y
" (H=1200) V=0.65x1.00x 100 65.0 P 100mH Y
FOER  (H=700 - H=1200) V=0. 10 x 1. 00 x 100 100 m  100m% Y
HE (B4&R) (H=700 - H=1200) V=0.14x1.00x 100 14.0 P 100m% Y
15 (%4 1) (H=700) V=0. 31 x 1. 00 x 100 3.0 m  100m Y




RREAER B T &5t HE - NO. 2

R (FEEL) (H=1200) V=0.41x1.00x100 4.0 m 100m¥%Y
BiIamET  (H=700) V=55.0-31.0x1.1 209 m  100m% Y
BAMET  (H=1200) V=65.0-41.0x 1.1 19.9 m  100m% Yy

K ¥g (H=700) V=55.0/100 % 45. 2 24.86 m*

" (H=1200) V=65.0/100x9.7 6.31 m’

8 & 31.17 m*

RO ERE (H=700 - H=1200) V=10.0/100x54. 9 549 m*
HE (B4R (H=700 - H=1200) V=14.0/100x54.9 7.69 m
BER (FEEL) (H=700) V=131.0/100x 45. 2 14.01 m®
" (H=1200) V=41.0/100%9.7 3.98m

=l 17.99 m®

FEAET (H=700) V=20.9/100x 452 9.45m’

" (H=1200) V=19.9/100x9.7 1.93m

& F 11.38 m°







TEMERTER & = NO. 1
BHIJOv Y (BFJAvy)
FEE/NRIL 1300 x 300 A= 14.6+14.5 2.1 M FEESERX-15#)
" " A= 2.2+3.8+2. 2+1.6+3.5+2. 7 16.0 i FERSHE(B2965H)
& &t 45.1m
REJOwS 300 x300x60 A= 0.3+2. 6+1. 2+3.2+0. 6 1.9m  FERBEB2965 )
Hib® (H=850) N= 2+4+3 IHE  EE)
RIRFEE (H=800) N=8 8 &K  (BiiEIL)B2965#R
AY—JLA (¢ 350 - H=410) 4E FTERSERX-15#)
NUFA (W555 x L1200 x H755) 2 TERSERX-15#)
AviaZ xR (H=1200) 46.8 m FTENSERX-15#)
EtrEL) (t=30cm) 10.9m® TERSER-15H
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RE# T EE ik i NO. 1
BEt e XEHR
E#R(E) W=15cm (Zfa) L=34.0 + (B L=39.3 713.3 m EAIR (R-15H)
" I [=95.5 95.5 m EX{AIER (B2965 #R)
" I L=34.5 34.5m HREE
af 203.3 m
AEfR (H)  W=30cm L=10.0+1.2 11.2m Ry MR (B29654%)
E4R (8)  W=30cm L=13.6 13.6m (R-15#)
E4R (8)  W=45cm L= 2.9+2.9+2. 9+2. 9+2. 9 145 m FIE#R(R-154R)
" 1 L= 21. 0+25. 6+25. 6+27. 1 99.3 m HMSE(R-158)
=i 113.8 m
E#R(82)  W=45cm
L=10.6 10.6 m I 51R (B29654%)
E#R (Fr)  W=45cm
L=17.0 17.0 m® Bk sz (8296242
EHR (H)  W=15cmifa & L= 16.51+16. 51+16. 51+16. 51+16. 51 82.6 M  suwsw snmmnsy E-sw
" " L=5.7+6. 7+6. 3 18.7m tFEHh(R-154#)
" 1" L=6.7+6.7 13.4 m el - $# (629684
" 7 L=9.4+9 4 18.8 m  zezimmi - $& @658
" " L= 35.0+35.0 70.0 m  x7 - wEAEE G065




ETA)

W:] SCm@E

NO. 2

b

B 203.5m
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fill



EEYBETEH Hi = NO. 1
SR IRYIET T (t=15cmEAF) L=2.4 2.4m TEESER-15K)
" " L=5.4+5.5+2. 0+17. 0+8. 0+21. 4+3. 8 63. 1 m TEHSE (B2965#R)
& F 65.5 m
S REE (t=5cm) A= 60.7 60.7 m’ sk sREE (R-154H)
" " A= 116.5 116.5 m”  ssshimsskims B29654)
" (t=4cm) A= 0.3+2.6+1.2+3. 2+0. 6 1.9 m’ TERSHEB26SH)
& & 185.1 m?
7RI 7L M EKL S E 0. 130m*/100m X 13. 3m 0.02 m* (t=bem) 2. 4+5. 4+5. 5
" 0.108m*/100m x 52. 2m 0.06 m’ (t=dom) 2. 0+17.0+8.0+21.4+3.8
& 0.08 m’
FAI7IL L5y Asik V=177. 2%0. 05= 8.9m
" " V=7. 9%0. 04= 0.3m
& & 9.2 m*
ERUBEERE
L=16.5 16.5 m FERSHE B265HR)
ERURIEIEHENS  Cosk (BfH)
V= (0.57x0.50-0.30x0.30) x16.5 3.2m
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% CADEHRISMEIIC & & FH{E

A= 116.5 m
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ERUBIEIE 300500 HA#HSHEESE 10m4 Y
500
230 _, 115, 155
RS SEEBERINYY (AEBE)
180 x 230 x 250 X 600
7 15
ARELEL 5
(B&1:3) > \ [ = ?
SQQ i 2
3 &
REBEELZIL =
®&1:3) KI,/ “J\ S
gLavsy—k - 2
(o ck=18N/mm2) =
= % Eavy—k
(ﬁr’aﬁg 50 | | 100 300 100| 50 (ack=1§N/mm2)
600
XEATST T—F . ARAESET 5=,
& Al R - Tk C # =
BEkT
RRUBEIE 300 L=2000 N= 10.0/2.0 5.0 N
(o ck=18N/mrf)
a1 — £ higE Y V=" (0.126x0.30) x10.0 EHE 0.38 m
(o ck=18N/mrf)
EBEa o )—+ ARG V=" (0.05%0.60) x10.0 0.30 m?
p g A= 0.05%2x10.0 1.00 m?
SAREILZIL B&1:3 V= 0.50%x0.02x10.0 0.10 m?
BEIT9NTY
HEigEwa (RC-40)t=10cm | A= 0.60x10.0 6. 00 m?
flE=E 300 L=2000 4.0 ®
fAlE= (EEA) 300F L=2000 1.0 ®

X Ao, ERRAE. BT/ Ay r—OREICEL,




ERUBEHE  300x600 HUNEHESE 10m4 Y
500
230 115,155
B& SEEHRT0 v Y (HEBH)
180 x 230 % 250 x 600
15
AEELEL S
(E&1:3) \ [ - 3
SMG i 2
8 &
REBELZIL - =
®@&1:9) Ki/ a “J\
MLavyyY—b - 3
(o ck=18N/mm2) 2
= R EiTavy)—+F
(RC—4§) 50 | | 100 300 100| 50 (crck=1;N/mm2)
600
XENI>7 — L. DRAEBHRI 5L,
(i Al B - Tk H H E 0 i =
Bk T
R RUEIAIE 300K L=2000 N= 10.0/2.0 5.0 7N
(o ck=18N/mf)
FEaVH)—F E|HIEEY V=" (0.122x0.30) x10.0 EHE 0. 37 m’
(o ck=18N/mf)
HE@goos)—+ EIEEY V= (0.05x0.60) x10.0 0.30 m’
B A= 0.05%x2x10.0 1.00 m?
SAREILAIL EE&1:3 V= 0.50x0.02x10.0 0.10 m’
BEYIYTY
EERA (RC-40)t=10cm | A= 0.60x10.0 6. 00 m?
S 300 L=2000 40 M
&= () 300F L=2000 1.0 'y

X B L, ERBRAE, BT/ Ay —CRMAICET,




ERUBEHE  300x700 HUNEHESE 10m4 Y
500
230 _, 115,155
B& SEEHRTOY Y (HEBH)
180x230x 250600 T~
15
REELZIL =
T ®mary \ [ gé 8
euﬁ i E
B d
ARELEL T =
Cms) e -
HLavsy—k e o~
(o ck=18N/mm2) =
= Effavyy—+
Eﬁ)ﬁg 50 100 300 100 | 0 (o ck=18N/mm2)
600
XENS o7 U= OEAENET5F;
i Al R - Tk B 4 OE W ) =
Bk T
ERUBEIE 300A L=2000 N= 10.0/2.0 5.0 .
(o ck=18N/mf)
FEEILHY— E|HIEEY V= (0.107x0.30) x10.0 TiiE 0.32 m’
(o ck=18N/mf)
HEa v )—+Fk EIEEY V=" (0.05%0.60) x10.0 0.30 m’
gy A A= 0.05%x2x10.0 1.00 m?
SAEEILZIL fE&1:3 V= 0.50x0.02x10.0 0.10 m’
BEYIYTY
HERA (RC-40)t=10cm | A= 0.60x10.0 6. 00 m?
BEE 300/ L=2000 40 &
;52 (FE7) | 300/ L=2000 1.0 5y

X B L, ERBRAE, BT/ Ay —CRMAICET,




ERUBEHE  300x800 Bug=it&E 10m4 Y
500
230 115,155
B& SEEHRT0 Y (HEBH)
180 x 230 % 250 x 600
15
AEELEL )
®A1:3) Il 8%
QQG i -
8 g
REELZIL - =
B R -
HLarysy—=» 1 - o = 2
(o ck=18N/mm2) =
v R EffavoY—+
(RC—4E) 50 100 300 100 | 50 ( Uck=1;N/ 'mm2)
600
XETIo7 = 5. ARAERIRT 5=F.
i Al R - Tk B 4 OE W ) =
HEkT
ERUBEIE 300A L=2000 N= 10.0/2.0 5.0 .
(o ck=18N/mf)
FEEaLHY— E|HIEEY V= (0.125x0.30) x10.0 TE 0.38 m*
(o ck=18N/mf)
HEEEa v )—+Fk EIEEY V=" (0.05%0.60) x10.0 0.30 m*
gy A A= 0.05x2x%x10.0 1.00 m?
SAEEILZIL fE&1:3 V= 0.50x0.02x10.0 0.10 m’
BEYIYHTY
HERA (RC-40)t=10cm | A= 0.60x10.0 6. 00 m?
BEE 3008 L=2000 4.0 %
;52 (BE7) | 300/ L=2000 1.0 5y

X E#Eo L, ERBAE, BT/ Ay —CRMAICET,
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